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QBID:1554951

Choose the correct form of verb to fill in the blank :

Smith had a lot of exercises through.
(1) work

(2) will work

(3) to work

(4) was worked

fafiad 4 9 fag aul &1 SARU H3 A T8l gldl g 2
) H

(2) ©

3 T

4) ©

1[Option ID=50001]

2[Option ID=50002]

3[Option ID=50003]
4[Option ID=50004]

Sl. No.2
QBID:1554952

Choose the appropriate preposition to complete the sentence :

He was unwilling to take the challenge.

(1) down
(2) for
(3) with
(4) up

T IR T FIRABA-T T TR TR 8 2

o IR T F A TE |

2 SR FRAgTHITTHI =TT |
(3) ST W7 Yeg & Heg AR A A ST e |
(4) DI FHERY gl 8 ¢ Pl RS eI & |
Homento-sntes

3[Option ID=50047]
4[Option ID=50048]

Sl. No.3
QBID:1554953

Choose the correctly spelt word.

(1) Abberration
(2) Abarration
(3) Abeeration
(4) Aberration

fraffa & 4 o1F SER & 3mgd vad J iEe T E
(1) fagd

(2) ¥

(3) 28q faqd

(4) 3Oy

1[Option ID=50073]
2[Option ID=50074]




3[Option ID=50075]
4[Option ID=50076]

Sl. No.4
QBID:1554954

Identify the correct indirect narration for the following sentence :

He said. "I do not wish to see any of you. go away."

(1) He said that he did not wish to see any of them and ordered them to go away.
(2) He said that he had not wished fo see any of them and ordered them to go away.
(3) He told that he did not wish to see any of them and ordered them to go away.

(4) He said that he does not wish to see any of us and ordered us to go away.

afarad areuie @1 Sfud SHTIR Hafyd Sifvg -
ATUTRE

B. BT &R YU

C. Tef BH gBRI

D. ¥¢l § P W

E. @l

-ite 3T 71T fadedl & 9 961 SR &7 997 Do -

1) E.C.D.B.A
(2) AB.C.D.E
3) B.C.D.E.A
@ C.D.E.A B

1[Option ID=50077]
2[Option ID=50078]
3[Option ID=50079]
4[Option ID=50080]

Sl. No.5
QBID:1554955

Rearrange the following parts of a sentence labelled as PQRS to make a meaningful sentence :

P of my strongest recollection
Q my father was a very
R is hearing him laugh

S funny man and one

(1) QSPR

(2) SQRP

(3) SRQP

(4) PRSQ

S HYTH &1 U & (67U gl s T 999 HIfolg ;
) Oy

(@) 3yHy

(3) YdrId

@) faftye

1[Option ID=50081]
2[Option ID=50082]
3[Option ID=50083]
4[Option ID=50084]

Sl. No.6
QBID:1554956
1

Pick out the antonym of 'irrelevant'.

(1) opposite




(2) apposite
(3) irregular

(4) inappropriate

fFoffea S0 RS S T © -
A T &1 T feame 9 feram |
B.USH I RAE |

C. WWRATTPIC |

D.ASH HFHIESE |

E. 98 BUSI 399 3@ S |

i iU U [ds el 9 Hel Ik &1 994 i
1) A B3RC
(2 A.C3RD
(3 B.C3RE

(4) C.D 3RE

1[Option ID=50085]
2[Option ID=50086]
3[Option ID=500871]
4[Option ID=50088]

Sl. No.7
QBID:1554957

Pick out the meaning of the underlined idiom in the following sentence :

She was brought up in a metro city by her grandmother.

(1) Looked after
(2) Trained

(3) Transferred
(4) Educated

Fa S pyfdume.
FY: A TP TG |
FYF 11 : FIP U8 U Waa adw | ¢ |

QORI Y- & ATl 0, - fU Y fasedi T 9 9ad Sugad SR &1 98- I -
(1) Y1 AR 1S gel 8

2 HYTI AR TTad &

(@) FFIFE S APTPHE I T ©

(4) HUF17Ad 8, At HUT I e §

1[Option ID=50089]
2[Option ID=50090]
3[Option ID=50091]
4[Option ID=50092]

Sl. No.8
QBID:1554958

Choose the correct passive voice form of the following sentence.

Can we send this parcel by speed post?

(1) This parcel can't be sent by speed post.
(2) Can we send the parcel by speed post?
(3) Should we send this parcel by speed post?

(4) Can this parcel be sent by speed post?




R pyEfRumg.

DYAT: 5 ! H STl &d & 1 59 aed B WY < ST a4 Jela &1 Jal WA gafl g |
HUF I : *MEH F1 GeTaR &1 gard g - Ry g 1

JSWRIT] HYH & ATdS 1, -l IS0 770 fabedi § § Jel I Bl 9g4 Difeit

(1) HYFI1MRISA Td e

(2) HYF1 R AT T &

(3) HUT1TA 8. AP PUT 1 AT &

(4) YT ITIE, AP YT I I8

1[Option ID=50093]
2[Option ID=50094]
3[Option ID=50095]
4[Option ID=50096]

Sl. No.9
QBID:1554959

Pick out the synonym of the following word :

Calm
(1) transform
(2) calamity

(3) tranquil
(4) transfer

fPrafafad & 9 o9 3o & gari =T g o
A feaR

B. feAax

C. |faar

D. TR

E. ey

< feu Y g el § 9 95t Sar 1 99+ oo
(1) Had A AR B
(2 FaaB AR C
(3) HaaB ARE
(4) HEAD ARE

1[Option ID=50097]
2[Option ID=50098]
3[Option ID=50099]
4[Option ID=50100]

SI. No.10
QBID:15549510

Identify the part of speech of the underlined word in the following sentence :

These are men of like build and stature.
(1) Adjective

(2) Preposition

(3) Verb

(4) Noun




A I A P I GHYS & 2
AR - g&T

B. iy - aifigg

C. U - e@af==

D. g§8 - &UgY

E. Tl 21

19 fldu U fae el O 9 Hed I9gad SR &1 99 Hifoll -
(1) HTAA. B AR C
(2) HTAB, C AR D
(3) HIAB.C AR E
(4) Had C,D ARE

1[Option ID=50005]
2[Option ID=50006]
3[Option ID=50007]
4[Option ID=50008]

Sl. No.11
QBID:15549511

A new website which finds correct photos of a person from across the internet is :
(1) Deep Eyes

(2) Pun Eyes

(3) Face Reads

(4) Clear Eyes

U 75 daige. o ¥ ges-ie 3 fad e & Tl ®icl HeTd ol 5. &1 A1
(1) ST 35

(2) TUH gy

@) BEisy

(4) FAER SATgel

1[Option ID=50009]
2[Option ID=50010]
3[Option ID=50011]
4[Option ID=50012]

gl

Sl. No.12
QBID:15549512

The name of the new monkey species found in Arunachal Pradesh is :
(1) Tibetian Macaque

(2) Assamese Macaque

(3) Sela Macaque

(4) White Checked Macaque

SEVTFASY & UIE T8 9531 &1 U 1 Foilfel & ATH 1 g 2
() fosadt Ad®

@ gt BFd

@) Jaihd

(4) e Al Al (RI5C dias ) 5D

1[Option ID=50013]
2[Option ID=50014]
3[Option ID=50015]
4[Option ID=50016]

Sl. No.13
QBID:15549513




Identify the private weather forecasting agency from among the choices given below:
(1) Skymet
(2) Weather Watch

(3) Monsoon Watch
(4) South-West Watch

i 32 T fawed! # 9 Fofl s gafgar okl &f ge=H S |
(1) THIgHT

(2) 9 dE

(3) HIAIA A

(4) T3Y % ar g

1[Option ID=50017]

2[Option ID=50018]

3[Option ID=50019]
4[Option ID=50020]

Sl. No.14
QBID:15549514

Who was picked up to be CEO of Air India by the Tata Group?

(1) Aditya Ghosh

(2) Rahul Bhatia

(3) Ilker Ayci

(4) Campbell Wilson

TG - UR-3S 01 &1 GBI HHaR! HHHRT & iRk W 4 g1 2
() e =y

(2) g HifedT

(3) See Mt

(4) PE foeE

1[Option ID=50021]
2[Option ID=50022]
3[Option ID=50023]
4[Option ID=50024]

Sl. No.15
QBID:15549515

Tiananmen Square protest was led by :

(1) Students in Beijing

(2) Students in Hong Kong

(3) Airlines staff in Shanghai

(4) Doctors and Nurses in Xian

foram = W TR BT SAT<Ie T I fdeu o ar 2
) FifST e B

() BRI & BT

(3) RIUTE & TS Yalsf & HHARI

@) o & siaed 3R 79

1[Option ID=50025]
2[Option ID=50026]
3[Option ID=50027]
4[Option ID=50028]

Sl. No.16
QBID:15549516




Find a statement which must be true according to the given information :

A growing population in African country is causing growing concerns about increase in people below poverty line. The population in 2015
was 510 million. By 2020, the population inereased to 660 million. There were also more people below the poverty line i 2020 than in
2015. In each year between 2015 and 2020 when the population of the country increased, so did the people below the poverty line.

1. From 2015 to 2020, when the population increased. the percentage of people below the poverty line also increased.
11. If the population decreased in a particular year, people below the poverty line also decreased.
iii. If the population increased in 2018, more people were below the poverty line than in 2017.
1v. The population every year decreased from 2015 to 2020.

(1) Only1

(2) Only ii

(3) Only iii

(4) Oaly iv

e <t TR AT & STUR IR e gIed B UgdH Bifoly ;

U 3BIDHI oR1 T gl SUBIl & R IRIS! - @I & A1d & arll &1 681 1 gl & ddhx =il §¢ el § | 97 2015 H SHI@

510 e oF | 2020 T, ST 9D 660 TATRTTA B1 TS 12015 BT a1 4 2020 T TR - 1@T & - S8 @1 412015 F 2020
& S % g ay | O/F S ] SEE 91, df TR - a1 & 1 & @i ot 91

(i) T 2015 H 2020 TP, Td S-THWAT §¢1 ol TRIaT 1@T o 1< g1 arel Wl DT Hicr<rd Hi ue|
(i) afe fopdt fasiy o & Sz wel, o TRIeT W & Ak & arr i 9¢ |
(iii) TG ¥ 2018 T SHEAT §¢1. 1 2017 DT o1 H TRiel! ¥@1 & =i Hi dmeg |

(iv) 2015 ¥ 2020 T B IY TG 9l |
(1) Had (i)
(2) Had (ii)
(3) Had (iii)
(4) Had (iv)

1[Option ID=50029]
2[Option ID=50030]
3[Option ID=50031]
4[Option ID=50032]

Sl. No.17
QBID:15549517

Code the word. using the conditions and table given below. Choose the correct option.

Digits / Alphabets / Svmbols 16 [# @ [|A [H |2
Code G K [2]7 (& [ [M
Conditions :

1. If the word starts with alphabet and ends with digit. the code of 9 should be changed to S.

i1. If the word starts with 6 and has five items. the code of @ should be Y.

fand

11, If the word has a vowel, then the code of the code o and fourth item should be mterchanged.

(1) &M27G!
(2) &T2MG!
(3) &527G!
4) &T72YG!




4 <1 772 IRoRt 3R ufderil F SyR W AU T UsE $1 Seas DIl | 98 fdded &1 997 Siford |

3@ | &R Ul / B 106 @ |a |5 |9
BT G K 7 & | [m
fda -

i, f3 Teg 31&R U = BIaT © 3R 3 I JATE BIdT . Tl 9 BT PHE TGADR S DR a1 AR |
ii. A1 W55 6 U [ ol SR S9H 5 P41 61 dl @ PTHC Y T AT |
iii, T7E Weg T TP TR o1 1 gudl SR A1t SdIs & el Bl Siaagd B o1 ey |

1) &M27G!

(2) &T2MG!

(3) &S27G!

@) &T2YG!

1[Option ID=50033]

2[Option ID=50034]

3[Option ID=50035]
4[Option ID=50036]

Sl. No.18
QBID:15549518

Find the wrong number in the given sequence of numbers

11,17, 22, 28, 33, 39, 45
(1) 45
(2) 17
(3) 28
(4) 39

T3 & A4 fau U 3 H § TTed I &l U= |

11,17, 22, 28, 33, 39, 45
(1) 45

(2) 17

(3) 28

4) 39

1[Option ID=50037]
2[Option ID=50038]

3[Option ID=50039]
4[Option ID=50040]

Sl. No.19
QBID:15549519

If in a certain code language DELHI is written as 97. how will SURAT be written as
(1) 167

(2) 85

(3) 46

(4) 56

g1¢ fordl fa2Iy goe UTST  DELHI 1 07 61T SiTdl § Al SURAT ol o fera GiTgam 2

(1) 167
(2) 85
(3) 46
(4) 56
1[Option ID=50041]
2[Option ID=50042]

3[Option ID=50043]
4[Option ID=50044]

SlI. No.20
QBID:15549520

Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

Engine : Car
(1) Ball: Cricket




(2) Kitten : Cat
(3) Roots : Tree
(4) Salt : Pepper

Srea! & go 37 § ot Ja= & THH TR B 9aiad ¢ 9 Hafid Sx-dd eg-JH &1 997 SIfo |
g0 : PR
() Tig : fobdbe

2 faier - ot
(3) S5 d4&

(4) 9@ - g

1[Option ID=50049]
2[Option ID=50050]
3[Option ID=50051]
4[Option ID=50052]

Sl. No.21
QBID:15549521

A box contains 15 torch lights out of which 3 are defective. Two torch lights are chosen at random from this box. The probability that at
least one of them is defective is.

(1) 17/35
(2) 11/35
(3) 14/35
(4) 13/35

TH A H 15CM adBe g MH A U3 M ¢ | 900 J U@ ol eddlge 9di-d &) 1 | 370 9 $H U &H U G306 oF &1
i@ & -

(1) 17/35

(2) 11/35

(3) 14/35

(4) 13/35

1[Option ID=50053]
2[Option ID=50054]
3[Option ID=50055]
4[Option ID=50056]

Sl. No.22
QBID:15549522

How many kg of dal at Rs. 84 per kg be mixed with 32 kg of dal at Rs. 102 per kg to get a mixture worth Rs. 96 per kg?

(1) 16

(2) 23

(4) 43

Z 96 Ufd fbam fagror o forg & 2 102 Wil fohor areit 32 oo <1ar & Ty 7 84 ufd fobom areft febat fovam <1 fofga ot wma 2
(1) 16

(2) 23

(3) 49

(4) 43

1[Option ID=50057]
2[Option ID=50058]
3[Option ID=50059]
4[Option ID=50060]

Sl. No.23
QBID:15549523

A train is going from Mumbai to Pune and makes 5 stops on the way. 3 Persons enter the train after it has started from Mumbai with 3
different tickets. How many different sets of tickets they may have had?

) p,
2 3x1p,
=) B,
@) °p;/3




TS ¢ Ha% § AT O XeT & 9T o 5 farm aclt § | 3 oafck e 3 fewpeil 6 iy 39 & Has 9 R - W H v avd ¢ |
3% U fewel & fpa- Rm e s aod § 2

) p,

(@) 3 19p;

e g,

@) °p;/3
1[Option ID=50061]
2[Option ID=50062]

3[Option ID=50063]
4[Option ID=50064]

Sl. No.24
QBID:15549524

Two circles both of radii 6 have exactly one point in common. If A is a point on one circle and B is a point on the other circle. what is the
maximum possible length for the line segment AB?

(1) 24

(2) 18

(3) 12

(4) 20

6 =01 & 31 9l & Pad U Ivaly &g 31 a3 Us 9d R g A 7u R a0 R fig B 81701 @0s AB 1 Guifad siftean
TS A6 2

(1) 24

(2) 18

(3 12

(4) 20

1[Option ID=50065]

2[Option ID=50066]

3[Option ID=50067]
4[Option ID=50068]

Sl. No.25
QBID:15549525

The radius and height of a cone are in the ratio 4:3. The arca of the basc is 154 cm?. What is its curved surface arca?
(1) 154.25 cm?

(2) 182.25 cm’

(3) 192.25 cm?

(4) 202.25 cm?

U TP DI A1 qUT Ha1E 4:3 F U H ¢ | YR BT &5 154 012 8 | 5P ahYP $T 8750 d 1§ 2
(1) 15425 P

(2) 182.25 9HP

(3) 192.25 YA

(4 20225 I

1[Option ID=50069]
2[Option ID=50070]
3[Option ID=50071]
4[Option ID=50072]

Sl. No.26
QBID:1185531

Which of the following is net a characteristics of community:-

(1) "We feeling" among the members of community

(2) The similarity in culture and traditions of the members of community
(3) There is a physical proximity among members of community

(4) Community is a static union of people. and organization.
fafeRea & 3 oF i o=y 9am 9 98fid 781 o2
(1) U™ b F<H-I T §H DI HIGHT g

(2)




TUE & Hadl B 9 id g yursll § 9EEa g
(3) I & ¥l T IRIRS Aoidiet giHr
(4) THEH Al 1 U R I9 3R T 2 |

1[Option ID=49701]
2[Option ID=49702]
3[Option ID=49703]
4[Option ID=49704]

Sl. No.27
QBID:1185532

Main determinants of health status of a person:

(1) Education
(2) Physical environment

(3) Income and Social status
(4) All of the above.

forddt oofda & wreo ot fufy & o T &
(1) e

() ifges gRkaw

(3) 3T 3R YHIS T8l

(4) IRl g

1[Option ID=49745]
2[Option ID=49746]
3[Option ID=49747]
4[Option ID=49748]

Sl. No.28
QBID:1185533

The organized forms of social behavior and their repetition are called
(1) Customs

(2) Values

(3) Culture

(4) Norms

IS AdER & WIed 9 &R 391 TRIgd Hedrd o
@) {fq-Rars

(2) Hed

(3) WPfd

(4) Hes

1[Option ID=49789]
2[Option ID=49790]
3[Option ID=49791]
4[Option ID=49792]

Sl. No.29
QBID:1185534

Which of the following book has not been written by Dr. B.R. Ambedkar?
(1) Annihilation of Caste.

(2) Federation versus Freedom

(3) Glimpses of World History

(4) Thoughts on Pakistan

fFPraffa gl § @ @ 9 gwe Sf. &, R, sraes) 3 7 foreft 22
(1) UFERE 31 HRe

(2) HSEHE T4E BisH

3) MR ol aes B!

(4) WUTcH 311 Ul &

1[Option ID=49833]
2[Option ID=49834]




3[Option ID=49835]
4[Option ID=49836]

Sl. No.30
QBID:1185535

What does the Goal-3 of the Sustainable Development Goals aim at?

(1) Ensuring healthy lives and promoting well-being at all ages.

(2) Achieving gender equality and empowering girls and women

(3) Conserving and sustaining the use of oceans, seas and marine resource

(4) Promoting sustained. inclusive and economic growth

Tad faeT el & 98 3 B Ie=g HT 82

(1) TR Si1a- GRS ST AR R 341G aF & Heurvl g deral &l
(2) TfiTe GHF I BRA1 3R dsieedl 3R Hiearsi & Iad &M
(3) HENIRI. IY&! 3R THa! TR1eH! o1 TR0 3R Fad SuaT &1
(4) gad. guraeh ¢k snffe dofs o1 ggar g

1[Option ID=49877]
2[Option ID=49878]
3[Option ID=49879]
4[Option ID=49880]

Sl. No.31
QBID:1185536

Match List T with List IT

LIST I (Theoretical Perspective) LIST II (Author)
A |Psvchoanalysis il Sigmand Freud
B. |Client centered therapy I1. |Karl Rogers
C. |Rational Therapy III.  |Albert Ellis
D. |Transactional Therapy IV. |Eric Bemne

Choose the correct answer from the options given below:
(1) A-IV, B-IL. C-1. D-III
(2) A-L B-IIL C-III. D-IV
(3) A-IL B-III. C-I. D-IV
(4) A-IIL. B-I, C-II, D-IV

el 1 1 G 11 ¥ THar Bifoyg

T 1 (Esiios uhesm T 1 @E®)
e CliCER L 1. |Rrswigs

?@%ﬁﬂ B I | e

c. |[adure fafEa @t I |Uesd Uiy

oH-o 9 gafta i
D. o A v |[ofm e

frrafeiad faeeal # 9 98t R &1 90 Do -
(1) A-IV, B-IL C-1, D-III
(2) A-LB-I C-IIL D-IV
(3) A-L B-IL C-1, D-IV
(4) A-IL B-L C-II, D-IV

1[Option ID=49921]
2[Option ID=49922]
3[Option ID=49923]
4[Option ID=49924]

Sl. No.32
QBID:1185537

Under which of the Articles of the Constitution of India a group is constituted named "Right against Exploitation”
(1) Asticle 15-16
(2) Article 17-19




(3) Article 20-22
(4) Article 23-24

HAUH & D ¥ e "W & [dos SiUeR" Wie 3 Ha6ftd 82
(1) 355 15-16
(2) w54 17-19
(3) 3T=g20-22
(4) 3w54 23-24

1[Option ID=49965]
2[Option ID=49966]
3[Option ID=49967]
4[Option ID=49968]

Sl. No.33
QBID:1185538

Which one among the following is the nation-wide campaign launched by the Government of India for achieving universal accessibility
for persons with Disabilities (PWD)?

(1) Divyang Indian Mission

(2) Reach India Mission

(3) Sugamya Bharat Abhiyan

(4) Swachh Bharat Abhiyan

et @il (dt. Seey, St.) & forg Fafafad & € oH-91 <Xl S YRd $1 ISR - TR (347 8 difds d Ydaardt 9gd urd
PP 2

(1) o yredia e

2 {9 sfeu fawE

(3) I HRd 3iftar

(4) 95 HRA fEaE

1[Option ID=49993]
2[Option ID=49994]
3[Option ID=49995]
4[Option ID=49996]

Sl. No.34
QBID:1185539

Activities which may be included by companies in their Corporate Social Responsibility policies are mentioned in the
(1) Schedule V

(2) Schedule VI

(3) Schedule VII

(4) Schedule VIII

a1 nifafatiat it Sufat eg= SraRke gmfoe Iweariayy! Hifad o wifie o= gadl 8. 371 9 fead faar mrge
() gV H

(2) SFgE VI H

(3) SIE VI H

(4) g v H

1[Option ID=49997]
2[Option ID=49998]
3[Option ID=49999]
4[Option ID=50000]

Sl. No.35
QBID:11855310

The International Renewable Energy Agency (IRENA) was formed in .......
(1) 2008
(2) 2009
(3) 2010
(4) 2011

AR Tdiprulid el Taid (315, 3R, 5. T1. 1) fod o & &1 7152




(1) 2008
(2) 2009
(3) 2010
(4) 2011
1[Option ID=49705]
2[Option ID=49706]

3[Option ID=49707]
4[Option ID=49708]

Sl. No.36
QBID:11855311

The organized non profit activities for public welfare outside of both private and public sector 1s called

(1) Corporate Sector

(2) Civil Society Sector

(3) Govermment Sector

(4) Private Sector

Aol ofR grdw-e &4 & 976t duli-id Heardl & fag HTEiford TR-arHe R mfafafia] & #e1 i &
(1) IEd &=

(2) TIRS FHTS &3

(3) WBRI &

@) it &

1[Option ID=49709]
2[Option ID=49710]
3[Option ID=49711]
4[Option ID=49712]

Sl. No.37
QBID:11855312

The Practice of Untouchability is abolished by the Indian Constitution in Article
(1) 17
(2) 19
(3) 38
(4) 42

YR WY GRT 3Rgad] B 941 31 5T 3r=de & R JHT S a1 71 82
(1) 17

(2) 19

(3) 38

(4) 42

1[Option ID=49713]

2[Option ID=49714]

3[Option ID=49715]
4[Option ID=49716]

Sl. No.38
QBID:11855313

Which duo has initiated 'Dalit Panther Movement' for the emancipation of downtrodden society?
(1) Namdeo Dhasal and Raja Dhale

(2) Raja Dhale and Ramdas Athawale

(3) Prakash Ambedkar and R.S. Gadwai

(4) Arun Kamble and Raja Dhale

24 3 foo1 <1 3 gferd 9urel #1 gfdd & e gfed JuR siiela & gEad Db

(1) HEE YIS SR T T

(2) 7Sl eTeT SR IHETY STac

(3) UPIY HESH AR 3R.TH TS5

(4) 301 B 3R AW YTl

1[Option ID=49717]
2[Option ID=49718]
3[Option ID=49719]
4[Option ID=49720]




Sl. No.39
QBID:11855314

Globalization and greater competition among producers has been advantageous to consumers in respect of:
(1) Wide ranging choice of goods in market

(2) More and more goods and services, investments and technology are moving between countries.

(3) People enjoying higher standards of living.

(4) All the above

AiepRuT SR IIEH| & &t e Hideyl Suie & [ f&d aR H Bradrs el &

(1) SI9R H 9%g3li &1 e dimr ol faed|

() 3Hferep 3 st a¥g Ud Ha, e SR WiEiiiee] &t &= & Siareigl g1 361 8

(3) TN I ofia TR P 38 0 B 8

(4 IwRiad g4i|

1[Option ID=49721]
2[Option ID=49722]
3[Option ID=49723]
4[Option ID=49724]

Sl. No.40
QBID:11855315

Which of the following statements regarding the concept of behavior is correct?

(1) Bechavior includes all our outward or overt actions and reactions such as talking. facial expressions and movements.
(2) Behavior includes all our daily activities and the way we do it.

(3) Behavior include all internal covert activities of our mind such as thinking, feeling, remembering.

(4) Behavior includes all our inward and outward actions and reactions.

Fafafed J 9 1H 9 $UT oJagR i S[GURUN & TaY H T8l 62

(1) agR ¥ gAR 9t a1edt o vere wr SR ufaferany wnfire § Ot fa a1d e, 38R &1 Wid SR Fra-erd |
() geR ¥ a9t 2w nfafafiet iR guR gr1 fpu o are @i afmfea g1

(3) UdER ¥ gHR 1A &1 |t 3fiaRes 17w iafafemt i €. oI - S, g3 S, 18 B3|

(4) aeR ¥ gaRI 3fidfve 3R arel fpard 3R ufaferard wnfie g1

1[Option ID=49725]
2[Option ID=49726]
3[Option ID=49727]
4[Option ID=49728]

Sl. No.41
QBID:11855316

Which of the following books invited the attention of people to the threats of toxic chemicals and the environment ?
(1) Silent Spring

(2) The Population Bomb

(3) The Dying Wisdom

(4) The Limits to Growth

afeRad geae 1 U 69 Tae = arll &1 &0 Sigeid 39194 SR ardiarul S i [Gamn

1) Frgae [@i

(2) gl UIgaRH ai
3) 4l S fa=sy
(a) dlfafeagay

1[Option ID=49729]
2[Option ID=49730]
3[Option ID=49731]
4[Option ID=49732]

Sl. No.42
QBID:11855317

What 1s the full form of NFHS?
(1) Neonatal Family Health Scheme

(2)




National Familial Health Survey
(3) National Family Health Survey

(4) National Family Health Scheme

T, U%. U9, TH." &1 01 914 F41 82
) fFsiFea Bid s @i

() I3d Hinfad e Td

(3) YA Bitel e 9d

(4) AT el e Wi

1[Option ID=49733]
2[Option ID=49734]
3[Option ID=49735]
4[Option ID=49736]

Sl. No.43
QBID:11855318

Imports of goods and service raises the .............. of foreign exchange
(1) Supply

(2) Demand

(3) Both supply and demand

(4) Neither supply not demand

%] Ud Harsii &1 mard faewh ga fafan i CAEEGIE

4 Adl agfd s A g am

1[Option ID=49737]
2[Option ID=49738]
3[Option ID=49739]
4[Option ID=49740]

Sl. No.44
QBID:11855319

Which Article of Constitution recommended for the constitution of Finance Commission in India?
(1) Article 260
(2) Article 282
(3) Article 280
(4) Article 281

Sfau & g 3w & Swaild YRd § [aTid SN & 164 &1 eI &1 152
(1) TG 260
(2) G282
(3) 3T=IG 280
(4) TS 281

1[Option ID=49741]
2[Option ID=49742]
3[Option ID=49743]
4[Option ID=49744]

Sl. No.45
QBID:11855320

WTO is concerned with:
(1) Borrowing and lending at the international level

(2) Management of the rules of trade between nations
(3) The violation of human rights at the international level

(4) The policies pertaining to climate change at international level

fa%y somIR TeA (wto) fead gefd g




) SR TR R FUR o a1 &

(2) T & 7Y AR & g4 B geeT

(3) SARIY TR R A SHUBRI BT Feeier

(4) SITRIPIT TR R Tdar] gRad- 4§ Fafed -t

1[Option ID=49749]
2[Option ID=49750]
3[Option ID=49751]
4[Option ID=49752]

Sl. No.46
QBID:11855321

Enlist four village level health workers?
(1) ASHA. FHW, MHW, DAI

(2) AWW, FHW. DAL VHG

(3) AWW, ASHA, DAI VHG

(4) ASHA. DAI. MHW, VHG

TTHIU TR R IR WD FGars o1 941 sl

(1) U UH. UA.U (ASHA), UF U4 S&9 (FHW). UH.Ud S6eg (MHW) 310318 (DAI)
(2) U S&, S (AWW), U%5.U9.3&7] (FHW), S1.U. 3715 (DAI), &, T9. off. (VHG)
(3) U S&Y, S&Y (AWW). U. UH. U9.U (ASHA). SI.U.3MT8 (DAI). dl. U9 Sl (VHG)
(4) U UH. TA.U (ASHA), S1.U.3Tg (DAI). UH.U9. S (MHW). d1. T3, STt (VHG)

1[Option ID=49753]
2[Option ID=49754]
3[Option ID=49755]
4[Option ID=49756]

Sl. No.47
QBID:11855322

Family is a:

(1) Reference Group
(2) Primary Group

(3) Secondary Group
(4) Recreational Group
gIRAR U

) Fefag el

2) WS TE T
) fgdiue 99E ¢

(4) FANGHTHS 998 &

1[Option ID=49757]
2[Option ID=49758]
3[Option ID=49759]
4[Option ID=49760]

Sl. No.48
QBID:11855323

Main cause of population explosion in India is:

(1) Good Health
(2) Higher percentage of female population

(3) Social Security

(4) Poverty

YR H SR fqemie ©f 581 DR &
(1) H=s Wy

(2) Hlgarsdi &1 I=aR uidgrd

(3)




AT GRAT
(9 gREdl

1[Option ID=49761]
2[Option ID=49762]
3[Option ID=49763]
4[Option ID=49764]

Sl. No.49
QBID:11855324

Which of the following is not a means of culture contact?
(1) Trade

(2) Migration

(3) Ethnocentrism

(4) Tourism

Fafafad & 9 oF 91 9ipide 996 &1 91eE T8 62
(1) MUK

(2) Yad-

(3) Fefd-Sslodr

4) gz

1[Option ID=49765]
2[Option ID=49766]
3[Option ID=49767]
4[Option ID=49768]

Sl. No.50
QBID:11855325

One of the keys to deindividuation is
(1) group polarization

(2) anonymity

(3) group protection

(4) conformity

faoraitoT F1 Hol H A T

1[Option ID=49769]
2[Option ID=49770]
3[Option ID=49771]
4[Option ID=49772]

Sl. No.51
QBID:11855326

Example of tertiary health care
(1) Plastic Surgery

(2) Cardiac Surgery

(3) Cancer Management

(4) All the above
T TR SGHTT BT IR0 &

(1) @IfeE Gonl
() FoTP To!
(3) HFIR Yay
(4) IuRIe g

1[Option ID=49773]
2[Option ID=49774]
3[Option ID=49775]
4[Option ID=49776]




Sl. No.52
QBID:11855327

The information about goods and services which should be available under the Right to Information (RTT) includes:

A. Increased competition
B. Direction for Proper use
C. Expiry date (upto which date can he used)
D. Availability of goods in store
Choose the correct answer from the options given below:
(1) AB.Conly
(2) A.C.Donly
(3) D.B.C only
(4) B only
I & ISR (AREISAE) F ded Sua=l g ara axqgael AR Garsf & [dvg § THar! gd wiia &
A. 981 gs wlagitiar
B. I4ftd 390N &g Haxl
c. gaife fafy (o fofy 9@ Suam fear w1 9@are)
D. §BHI IR a3l fob Sueiserar
=t fqu e fd@ el § 9 91 SR &1 994 Siforg|
(1) HIF AB.C
(2) Had A.CD
(3) H3UD.B.C
(4) Had B

1[Option ID=49777]
2[Option ID=49778]
3[Option ID=49779]
4[Option ID=49780]

SI. No.53
QBID:11855328

Genderis a
(1) Biological construct

(2) Economic construct
(3) Social construct
(4) Psychological construct

ICERYE

M Sfew F

@ e A

) g [T
(4) gEIaTIfE AT

1[Option ID=49781]
2[Option ID=49782]
3[Option ID=49783]
4[Option ID=49784]

SI. No.54
QBID:11855329

Memory is an active system. Arrange the following stages of memory processing in order.

A. Rehearsing the information

B. Receive sensory information

C. Retrieval of information

D. Convert the information that is usable
E. Keep the information in storage

Choose the correct answer from the options given below:
(1) B ADE.C




(2) D.B.EA.C
3) C.AB.DE
(4) B.D.AE.C

W14 U Aiohd USld & | Ffc Gare & Hufiigd =Rl &1 HHaR oaieud S |

A. I $1 Garam S

B. Hag] 1T WKl BT

C. AT O U Rl

D. WA 91 &1 uikafid &<
E. Y1 &1 TR H TE]

i fau 71U fawenl | ¥ 98l 3R &1 994 Sifog|
(1) B.ADE.C
(2) D.B.E.A.C
3) C.ABD.E
(4) B.D.AE.C

1[Option ID=49785]
2[Option ID=49786]
3[Option ID=49787]
4[Option ID=49788]

SlI. No.55
QBID:11855330

Social Legislation attempts to

(1) Provide Justice as well as Security
(2) Anticipate Social needs

(3) Provide for Change in the social order

(4) All the above

IS S va9 &

(1) TG 3R & HGH S &

(2) HHITP SRl P AR I BT

(3) IS ] Pl GGa- DI WU B Bl
(4) IR i

1[Option ID=49793]
2[Option ID=49794]
3[Option ID=49795]
4[Option ID=49796]

Sl. No.56
QBID:11855331

The Sixth Schedule of Constitution of India applies to the North Eastern States of
(1) Manipur, Mizoram, and Nagaland

(2) Assam. Meghalaya, Tripura. and Mizoram.

(3) Assam. Nagaland. Manipur and Tripura

(4) Nagaland. Assam, Mizoram and Meghalaya

YR AT B TaT Sl o STR-Ydl Todl I Haferd g2
(1) AT, AT $R ARTRlS

(2) 3, gara. fAgR 3R =g

(3) 3H. AR S, HUTGR 37R BRI

(4) RS, Y, ARy 3R STy

1[Option ID=49797]
2[Option ID=49798]
3[Option ID=49799]
4[Option ID=49800]

Sl. No.57
QBID:11855332




The hybrid and cosmopolitan nature of twenty-first century life is knows as

(1) Naturalization
(2) Nationalisation
(3) Localization
(4) Globalisation

216 et &1 Sffa Bt ofR dezfia W=y &1 3. & Fgand o
(1) UPIdDHul

(2 QTQT’JW

() wHgHR

() gefipur

1[Option ID=49801]
2[Option ID=49802]
3[Option ID=49803]
4[Option ID=49804]

Sl. No.58
QBID:11855333

Right to Free Legal Aid is included in
(1) Asticle 14
(2) Article 15
(3) Article 16
(4) Article 21

f3:3]e B TeTaa o SfieR foad fear mr g2
(1) HTDG 14T
) AHTDE 158
(3) TG 16
() g2 H

1[Option ID=49805]
2[Option ID=49806]
3[Option ID=49807]
4[Option ID=49808]

Sl. No.59
QBID:11855334

Bezbaruah Committee is associated with

(1) Long term food policy

(2) Small scale industries

(3) Tax reforms in India

(4) People from the North-East living in different parts of India.

SoTEs S Hifd [Pod daied 52

) €t amafde e Hifa ¥

(2) Y3 Y

(3) URAH PR FYR F

(4) YRd & fafirs el & 38 arel IwR-gd & i ¥

1[Option ID=49809]
2[Option ID=49810]
3[Option ID=49811]
4[Option ID=49812]

Sl. No.60
QBID:11855335

Within the Universal Declaration of Human Right (UDHR). there are different areas of rights. Which areas of the rights are called as
"Positive Freedom"

(1) Social, economic & cultural rights

(2) Political and civil rights

(3) Individual and Community rights




(4) Cultural and Collective rights

AHAISRI 5 WdYH 91907 (UDHR), $94 @RI & fafis &7 81 67 oifieR &5 &1 9eRIde Wdddl &gl 91l 62
(1) IS, e SR TRpii® deR

(2) IJoHIfaE 3R AFRE AfTER
(3) Jufdas 3R e sfter

(4) FiEpld® 3R Tfed HUPR

1[Option ID=49813]
2[Option ID=49814]
3[Option ID=49815]
4[Option ID=49816]

Sl. No.61
QBID:11855336

The cyele which not only renews the supply of water but also cleans it, 1s called as

(1) Seasonal Cycle

(2) Bi-Cycle

(3) Hydrological Cycle

(4) Nitrogen Cycle

9% b Gl 4 o Ul DI Y DI AdIHIgd PRl &, dieth 34 Y& Ul Pl g | 5 Bl Ol o
) HigHl =

(2 fg-g@

(3) wcita =5

(4) AIECIo 9%

1[Option ID=49817]
2[Option ID=49818]
3[Option ID=49819]
4[Option ID=49820]

Sl. No.62
QBID:11855337

The social order is maintained largely by

(1) Division of labor
(2) Law

(3) Socialization
(4) State

JAIS HaR & fhad gRT G871 =9 I 41U 6T o1l 82
(1) Y- fGHTSH
(2) P

(3) FHSIE
(4) I

1[Option ID=49821]
2[Option ID=49822]
3[Option ID=49823]
4[Option ID=49824]

Sl. No.63
QBID:11855338

Major Environmental Movement in India

A. Appiko Movement
B. Peasant Movement
C. Bishmoi Movement
D. Workers' Movement
E. Chipko Movement

Choose the correct answer from the options given below:
(1) C.D.E Only
(2) A.C.E Only




(3) AB.E Only
(4) B.C.A Only

YRd § U@ gaiaRo] JEieH 82

A. UfYe! sfigia
B. fgM afigiaH
c. fagHE aged
D. HolRl 1 Sl
E. [l sigiad
i fu U fdeedl § 9 gl 3R &1 944 Sifoig|
(1) Had CD.E
(2) Bad ACE
(3) ®add ABE

(4) FIAB.C.A

1[Option ID=49825]
2[Option ID=49826]
3[Option ID=49827]
4[Option ID=49828]

Sl. No.64
QBID:11855339

What 1s the foundation of Panchayat Raj System?

(1) Zila Parishad
(2) Panchayat of Samiti

(3) Gram Panchayat

(4) Gram Sabha

AT 3T UMl @1 g 741 82
(1) o uRee

(2) Yegd FHfa

(3) YA g=Ed

(4) UTHEHHT

1[Option ID=49829]
2[Option ID=49830]
3[Option ID=49831]
4[Option ID=49832]

Sl. No.65
QBID:11855340

In participatory development. people's participation is
(1) An end. not just a means to development

(2) Only a means to development

(3) Neither an end. nor a means to development

(4) Only a means. not an end to development
s Rem A A A e
(1) T8 &1 H1eg ¢, Bda |ied Te

) 4P P TD WA

3 Al [ &1 Hed 3R 7 81 Hied

(4) el [T B Qe © . 919 Tl

1[Option ID=49837]
2[Option ID=49838]
3[Option ID=49839]
4[Option ID=49840]

Sl. No.66
QBID:11855341




According to Child Labour (Prohibition and Regulation) Act 1986,

A child means a person who has not completed his
(1) Fourteenth year of Age

(2) Sixteenth Year of Age

(3) Eighteenth Year of Age

(4) Twenty first year of Age

a1l o1 (e SR faf-ame) T 1086 & SFER, U6 a= @] Hdds 94 oJied U ¢ o= SOl TRI el [ &
(1) 3G FTdiegdi a8

(2) 3Y &1 Aragdl ay

3) auwramﬂefﬂrﬁ

(4) IY BT3P gar a9

1[Option ID=49841]
2[Option ID=49842]
3[Option ID=49843]
4[Option ID=49844]

Sl. No.67
QBID:11855342

The Institutional re-distractive model is linked with
(1) Totalitarian State

(2) Welfare State

(3) Capitalistic State

(4) Communist State

HRITTA ARURNG AISd & HId 931 g8 o
(1) TS I5T

(2) HANBRI I

3) Yuitardi Iy

(4) el I

1[Option ID=49845]
2[Option ID=49846]
3[Option ID=49847]
4[Option ID=49848]

Sl. No.68
QBID:11855343

Match List T with List IT

LIST I (Social Movements) LIST II (Leaders)
A Satyagraha E Subhas Chandra Bose
B. Chipko Andolan 11 Sundarlal Bahuguna
C. |Azad Hind Fauyj 1. MK Gandhi
D. Bhakti Movement IV.  |Guru Nanak Saheb

Choose the correct answer from the options given below:
(1) A-III B-IL. C-I. D-IV
(2) A-L B-II, C-IV, D-III
(3) A-IL. B-IIIL C-IV. D-I
(4) A-IV. B-1. C-II, D-III




el 1 1 G 11 ¥ THar Bifoyg
T 1 (A1 Siare) I 1 G

A TR L |[guu TSy
B. |fuel e I |geXdrd agqun
C  |amE feg B L |[waE. T

D |ufd sfeieH V. |TeH® 9igd

Fafeiad fae el O 9 98l SR &1 904 Bifog :
(1) A-IIL B-II. C-I. D-IV

(2) A-I. B-II. C-IV. D-III

(3) A-IL B-III C-IV. D-1

(4) A-IV. B-1. C-II. D-IIT

1[Option ID=49849]

2[Option ID=49850]

3[Option ID=49851]
4[Option ID=49852]

Sl. No.69
QBID:11855344

Right to Information campaign was led by:-

(1) Amna Hazare
(2) Amma Roy

(3) Armna Naidu
(4) Rajendra Yadav
o1 1 HYPR HTGH fbgeh R rdm 717 412

(1) AT
(2) SRUNIY
(3) SHRUN UG
(4) 3ol A5

1[Option ID=49853]
2[Option ID=49854]
3[Option ID=49855]
4[Option ID=49856]

Sl. No.70
QBID:11855345

Accountability in governance refers to

(1) The ability of citizens to hold leaders. government and public organizations to account
(2) The ability of citizens to open accounts in banks

(3) The national income accounts that show profit and loss of government

(4) The behavior of chartered accountants in the corporate world

Y ¥ Sldracel Haltid Sl 8

(1) Fq13fl, WER 3R Yraw-% T3 U Sard JAH $I ARTRS] B &l
() @i & F@rar @i Bt AFIRD! DI &

(3) P M Wi & IR & A SR gl Dl g2 8

(4) BRURE SiTd § YU TEHR H1 TdER

1[Option ID=49857]
2[Option ID=49858]
3[Option ID=49859]
4[Option ID=49860]

Sl. No.71
QBID:11855346

What 1s the theme of Prime Minister's High level Committee popularly known as Sachchar Committee ?
(1) Social. Economic and Educational status of Muslim Community in India

(2) Imbalance in development of different regions in the country




(3) Impact of double taxation on domestic economy

(4) Social Economic and Educational status of the Scheduled Castes in India

TUTHAl ®1 39 I W Al 1 e favg o 8, o SR 9 & 8 3 ST o 82
(1) YRA B gRes gEr o e, sfie ok e fufa

2 ¥ ¥ faftw 9gsl & foera 7 sridaq

(3) TR SRUGRIT TR AIER PRI DT HHIG

(4) YRA B SYd oifd &1 armmeie, siitfe ok Qg Rufa

1[Option ID=49861]
2[Option ID=49862]
3[Option ID=49863]
4[Option ID=49864]

Sl. No.72
QBID:11855347

Marble cancer in Taj Mahal 1s mainly caused because of exposure to
(1) Bio-gas

(2) Hydrogen

(3) Sulphur dioxide

(4) Carbon monoxide

dIoiHgd & Hled BaR 581 &4 4 [dgd YuTd & SRUIGS g 2
O gE g

) BIEGIoH

(3) TP SEHTES

(4) P A RS

1[Option ID=49865]
2[Option ID=49866]
3[Option ID=49867]
4[Option ID=49868]

Sl. No.73
QBID:11855348

The concept of health includes:

(1) Physical. Social and Mental aspects
(2) Social aspects only

(3) Physical aspects only

(4) Physical and Social aspects

WY B HGYRON T i B-
() ifte, gmifed SR IFRe 9gq

(2) $dd HTND T8
(3) %ad HIfd® 9gq
4 e SR wmIfores ggg

1[Option ID=49869]
2[Option ID=49870]
3[Option ID=49871]
4[Option ID=49872]

Sl. No.74
QBID:11855349

Which of the following item is not a characteristic of clan.
(1) A clan consists of the lineages of both the father and mother

(2) The members of a clan believe in one or common ancestor
(3) Aclan is a unilateral group

(4) Members of a clan do not marry among themselves

FafiRad & 9 oF 91 Sy e T o fagvar T8 22




M) g AT iR A tP Qe HH B eI &
(2) TS T & I8 U 91 99F Jadl § [y &< g
(3) TS T U9 Ui 9o Al B

(4) U T & IS 399 J el 78] i g

1[Option ID=49873]
2[Option ID=49874]
3[Option ID=49875]
4[Option ID=49876]

Sl. No.75
QBID:11855350

is confidence and respect for yourself.

(1) Self-development
(2) Self-understanding
(3) Self-esteem
(4) Self- honesty

e R Ay iR H @A E gl

1) H-[AFE
(2) HIH-HHSA
(3) MH-THH

(49) ATHA-ZAFER

1[Option ID=49881]
2[Option ID=49882]
3[Option ID=49883]
4[Option ID=49884]

Sl. No.76
QBID:11855351

Who have a representation in the Zila Parshad?

(1) Youths
(2) Scheduled Castes and Scheduled Tribes
(3) Representatives of the cooperative societies.

(4) All of the above.

foren afvwe & Fafaied § 9 feaer afaffa gar g2
(1) 9gde

(2) Y Sfaar SR sy SHefaar

(3) HebRI FiHfadl & ufaHme

(4) FuRie i

1[Option ID=49885]
2[Option ID=49886]
3[Option ID=49887]
4[Option ID=49888]

Sl. No.77
QBID:11855352

Making equal access to opportunities available to everyone refers to
(1) Sustainability

(2) Empowerment

(3) Productivity

(4) Equality

U@ B GHH SAeR Uk B &1 Ugd ol 31 5

(1) Hdddl

(2) IR

(3) JHdladdl
(4) YHIAJ

1[Option ID=49889]




2[Option ID=49890]
3[Option ID=49891]
4[Option ID=49892]

Sl. No.78
QBID:11855353

Which of the following is the primary source of water pollution in India's major rivers?
(1) Unregulated small scale industries

(2) Religious Practices

(3) Agricultural run-off

(4) Untreated Sewage

Fofaiea § 9o H 9 YRd &1 1@ Aedl T U5y o ufis J9d 52
(1) AT oy I

@) e gy

(3) PTG (TA3HH)

O IIBCEICE]

1[Option ID=49893]

2[Option ID=49894]

3[Option ID=49895]
4[Option ID=49896]

Sl. No.79
QBID:11855354

Which of the following is the best way to encourage divergent, creative thinking?
(1) Engage in many activities simultaneously

(2) Force yourself to think of something new and ereative

(3) Go for a walk or engage in some other automatic activity

(4) Stare at a blank sheet of paper until a new. innovative solution comes to mind.

Fafafed 8 S oF I wie 9ad $=51 ¢ . ol [afdY . YorTae fHd- &1 Hidied ®Rdl o2
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Which of the following statements about culture are correct.

A. Culture persists through tradition

B. Every animal, including man is called the culture-bearing animal
C. Culture 1s the total social heritage

D. Culture is an inborn quality of man.

E. Culture is a system of learnt behavior

Choose the most appropriate answer from the options given below:
(1) ABC Only
(2) CDE Oaly
(3) BCD Ouly
(4) ACE Oaly
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(1) AT A, B.C
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................ theory propounds that childhood experience influences the adult behavior.
(1) Person Centered theory

(2) Behaviour Modification theory

(3) Psycho-Analytical theory

(4) Existential theory
giaTied PRl & [ SIeawil & 34 0% o oddeR &I YHIfad $d o:
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What 1s production in an economy ?

(1) Production of materials for consumption
(2) Activities of primary and secondary sectors.
(3) Production of all goods as well as services

(4) Activities related to all imports and exports
SfoaRl H Fare Pl ol 31 82
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Job Security would fall under which of the following needs?
(1) Social
(2) Ego




(3) Self Actualization

(4) Safety
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Which day is celebrated as the World Day of Social Justice?

(1) 18™ April

(2) 1™ December

3) 17% fuly

() 20t February

IS O & 3fie faw & wu H 31 I fa= T oar 8
(1) 18 3fHa

@) 1 fewmR

(3) 17 9dTg

(49 20 TRa
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Intellectual disability and blindness are possible outcomes of the effects of on the developing baby.
(1) Cocaine

(2) Caffeine

(3) Aleohol

(4) Mercury
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) PHH
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Emotions can be defined as the Feeling” aspect of consciousness characterized by the three elements. namely:
(1) A physical arousal; a motivation to work: a feeling of good and bad.

(2) A feeling about outside world: a consciousness of things. a moral judgement.

(3) A social perception; a learning opportunity: an understanding about others

(4) A physical aroural; a certain behavior that reveals the feeling to the outside world: an inner awareness of the feeling.
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The prohibition of Child Marriage Act came in the year
(1) 2018
(2) 2011
(3) 2009
(4) 2006

TTa-faars Fuy sifgfag gy o 3|
(1) 2018

(2) 2011

(3) 2009

(4) 2006
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2[Option ID=49934]

3[Option ID=49935]
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The blue print for achieving the goal of sustainable development was prepared in

(1) Stockholm Conference 1972
(2) World Summit on Sustainable Development

(3) Rio Summit, 1992
(4) Nairobi Conference, 1982

Tdd [GBT & 0 &1 Ui B3 & ol FUl [aH daR &1 T8 o2
(1) WEIHeH HIp-g 1072 F

(2) Idd [dh™ & IR | 9y RRR g §

(3) Tl RRER I eH, 1902 §

() R g 1082 F

1[Option ID=49937]
2[Option ID=49938]
3[Option ID=49939]
4[Option ID=49940]

Sl. No.89
QBID:11855364

Given below are two statements:

Statement I The constitution enumerates certain principles which are not justiciable or enforceable through a court of law but they are
regarded as fundamental in governance of the country

Statement IT: Directive Principles are important moral binding on the states to implement them.

In the light of the above statements. choose the mest appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
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Kaka Kalelkar is associated with
(1) Scheduled Caste Commission
(2) Scheduled Tribe Commission
(3) Backward Classes Commission
(4) Women Commission

HIHT BIAADR 8 Y TG §
(1) ST S ST

(2) TG ST AR
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Which of the following is UNESCO World Heritage Sites situated in North East India?
(1) Sun Temple
(2) Great Himalayan National Park

(3) Keoladeo
(4) Manas Wildlife Sanctuary

9 9 YAt YR BT S A1 LRS- g%l B fa% eRIs 7 82
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The extent to which a community. structure, service or geographical area 1s likely to be damaged by the impact of particular hazard is
termed as

(1) Risk

(2) Vulnerability

(3)




Capacity
(4) Disaster
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Lok Adalat refers to:
(1) Alternative dispute redressal mechanism

(2) People's Court

(3) Decreasing the case load of courts for speedy justice
(4) All of the above
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Under the Scheduled Castes and Scheduled Tribes (Prevention of Atroeities) Act. 1989 in which section there i3 a provision for the
arrangement of a Special Court?

(1) 12

(2) 13

(3) 14

(4) 15

ST 71 Td S S (AR 1 ASUTH) S, 1080 & 3id 69 uRT & G2y e &1 siawy &1 g |

(1) 12
(2) 13
(3) 14
4) 15
1[Option ID=49961]
2[Option ID=49962]

3[Option ID=49963]
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Which energy mainly supports the Space Station?
(1) Chemical Energy from battery

(2) Solar Energy

(3) Wind Energy

(4) Nuclear Energy
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Water that is found in rivers. lakes. wetlands and artificial reservoirs in called as
(1) Aquifers

(2) Ground Water

(3) Drinking Water

(4) Surface Water
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Which of the following air pollution control device has the maximum efficiency?
(1) Electrostatic Precipitator

(2) Dynamic Precipitator

(3) Spray Tower

(4) Wet Cyclonic Serubber
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Which of the following section of Indian Penal Code deals with cruelty to women by husband or relatives of husband?
(1) Section 198 A
(2) Section 298 A
(3) Section 398 A
(4) Section 498 A

YR <3 dfgar o1 FHafafad 3 3 o5 o ar1 ofa a1 9fd & RedeRi grr afgesi & ofa gear 3 gefia g2
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QBID:11855374
Which of the following item is not an example of social change

(1) Change in the living pattern of people
(2) Change in the fashion or mode
(3) Change in the human relationship and standards of conduct

(4) Change in the height and weight according to age.
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Deficit financing means that the government borrows money from the
(1) RBI

(2) Local bodies

(3) Corporate sector

(4) IMF
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